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QUESTION 1

memory_target big integer 808M pga_aggregate_target big integer 0 sga_target big integer 0 SQL> SHOW
PARAMETER SGA_MAX_SIZE

NAME TYPE VALUE sga_max_size big
integer 808M Which statement is correct about the database?

A. Automatic memory management is disabled because PGA_AGGREGATE_TARGET and SGA_TARGET are not set.
B. The instance is started but the database will not be opened until PGA_ AGGREGATE_TARGET and
C. SGA TARGET are set.

D. The database is opened but users cannot perform transactions until PGA_AGGREGATE_TARGET and
SGA _TARGET are set.

E. Automatic memory management is enabled and, as per the policy, 60% of the memory for System Global Area
(SGA) and 40% of the memory for Program Global Area (PGA) will be distributed at startup.

Correct Answer: E

QUESTION 2

Given below is a list of scenarios:

1) A user terminates his session abnormally.

2) The connection between the server and the client application terminates because of a network failure.
3) A schema is accidentally dropped.

4) The tablespace is accidentally dropped from the database.

5) The hard disk gets corrupted and the data files in the disk are lost.

6) The database instance abnormally shuts down because of power failure.
Which scenarios require DBA intervention to perform recovery?
A.1,3,and 6

B. 4,5, and 6

C.3,4,and 5

D.1,2,and 6

Correct Answer: C

QUESTION 3
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The database is running in the ARCHIVELOG mode. It has three redo log groups with one member each. One of the
redo log groups has become corrupted. You have issued the following command during the recovery of a damaged redo
log file:

ALTER DATABASE CLEAR UNARCHIVED LOGFILE GROUP 3;

Which action should you perform immediately after using this command?

A. You should perform a log switch

B. You should make a backup of the database

C. You should switch the database to the NOARCHIVELOG mode

D. You should shut down the database instance and perform a complete database recovery

Correct Answer: B

QUESTION 4

Your database initialization parameter file has the following entry:
SEC_MAX_FAILZD_LOGIN_ATTEMPTS=3

Which statement is true regarding this setting?

A. It drops the connection after the specified number of login attempts fail for any user.
B. It is enforced only if the password profile is enabled for the user.

C. It locks the user account after the specified number of attempts.

D. It drops the connection after the specified number of login attempts fail only for users who have the
SYSDBAprivilege.

Correct Answer: A

QUESTION 5

You created a tablespace with the following statement:

CREATE BIGFILE TABLESPACE adtbs

DATAFILE \\/probdb/data/adtbs.dbf\\' SIZE 10G;

There is now a requirement to increase the size of the tablespace.

Which two ALTER statements are correct in this scenario? (Choose two.)
A. ALTER TABLESPACE adtbs RESIZE 20G;

B. ALTER TABLESPACE adtbs ADD DATAFILE;
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C. ALTER TABLESPACE adtbs AUTOEXTEND ON;
D. ALTER TABLESPACE adtbs ADD DATAFILE\\'/proddb/data/adtbs1.dbf\\' SIZE 10G;
E. ALTER TABLESPACE adtbs MODIFY DATAFILE \\'/proddb/data/adtbs.dbf\\' AUTOEXTEND ON;

Correct Answer: AC

QUESTION 6

You are in the process of creating a Virtual Private Catalog (VPC) in your Oracle Database |1g database
.The PROD1, PROD2, and PROD3 Oracle Database 10g databases are registered in the base recovery
catalog. The database user who owns the base recovery catalog is CATOWNER.CATOWNER executes
the following command to grant privileges to a new user vpcl using Oracle Database 11g RMAN
executables:

RMAN> GRANT CATALOG FOR DATABASE prod1, prod2 TO vpcl; Then you issue the following
commands:

RMAN> CONNECT CATALOG vpcl/oracle@catdb;

RMAN> SQL "EXEC catowner.dbms_rcvcat.create_virtual_catalog;"

What is the outcome of the above commands?

A. They execute and create a virtual catalog for pre-Oracle 11g clients.

B. They produce an error because PROD1 and PROD2 databases belong to the older version.

C. They produce an error because you need to connect as CATOWNER to execute this packaged procedure.

D. They produce an error because you need to connect to the target database to execute this packaged procedure.

Correct Answer: A

QUESTION 7

You are in the process of creating a virtual private catalog in your Oracle Database 11g database. The

PROD1,PROD2, and PROD3 Oracle Database 10g databases are registered in the base recovery catalog.

The databaseuser who owns the base recovery catalog is CATOWNER. CATOWNER executes the

following command to grantprivileges to a new user VPCL1 using Oracle Database 11g RMAN executables:

RMAN> GRANT CATALOG FOR DATABASE prod1, prod2 TO vpcl,;

Then you issue the following commands:
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RMAN> CONNECT CATALOG vpcl/oracle@catdb;

RMAN> SQL "EXEC catowner.dbms_rcvcat.create_virtual_catalog;"

What is the outcome of the above commands?

A. They execute and create a virtual catalog for pre-Oracle 119 clients.

B. They produce an error because PROD1 and PROD2 databases belong to the older version.

C. They produce an error because you need to connect as CATOWNER to execute this packaged procedure.

D. They produce an error because you need to connect to the target database to execute this packagedprocedure.

Correct Answer: A

QUESTION 8

View the Exhibit to observe the error.

ORACLE Enterprise Manaqer 11g Solup Frobororcos  Help  Looou|
Database Control Database |

o - __—
Databass Instances: arel = Logged in A SYS
(X) Database Error

ORA-04031: unabie 1o alixale 3938 byles of shared memory ("sharad pool’ *SELECT a.advisor_tame, a.tas. " 'sga
heap(1,0)*,kglsim object takch*)

You receive this error regularly and have to shutdown the database instance to overcome the error. AutomaticShared
Memory Management is configured for the instance.

What can you do to reduce the chance of this error in the future?
A. Increase the value of SGA_MAX_SIZE

B. Enable automatic memory management

C. Set the PRE_PAGE_SGA parameter to true

D. Lock the System Global Area (SGA) in memory

Correct Answer: B

QUESTION 9
Which client requests to the database can be captured as a part of the workload capture? (Choose all that apply.)
A. flashback query

B. distributed transactions
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C. logging in and logging out of sessions
D. all DDL statements having bind variables
E. direct path load of data from external files

Correct Answer: CD

QUESTION 10

Identify two correct statements about the Active Session History (ASH) data.

A. A part of SGA memory is used to store ASH data as rolling buffer.

B. The ASH data can be analyzed between any two small time intervals.

C. All ASH data in memory are flushed to disk by MMON in every 3 seconds.

D. All ASH data in memory are flushed to disk by MMNL process whenever the buffer is full.

Correct Answer:. AB

QUESTION 11

Which statement is true about a Scheduler-generated event?

A. It can be generated when a file arrives on the file system.

B. it indicates state changes that occur within the Scheduler itself.

C. it is raised by an application that is consumed by the Scheduler to start a job.
D. it requires jobs to be defined with an event condition and a queue specification.

Correct Answer: D

QUESTION 12

You perform an RMAN block media recovery on the tools 01.dbf data file in the SALES database. Which two statements
are true?

A. You must ensure that the SALES database is mounted or open.

B. You must restore a backup control file to perform a block media recovery.

C. You must take the tools01.dbf data file offline before you start a block media recovery.

D. You must put the database in NOARCHIVELOG mode to perform a block media recovery.

E. You can perform only a complete media recovery of individual blocks, point-in-time recovery of individualdata blocks
is not supported.
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Correct Answer: AE

QUESTION 13

Which two statements are true about the duplexing of the backups taken by RMAN?

A. It\W's only supported for the backups performed on the tape

B. It is not supported for backup operations that produce image copies

C. Duplex backups need a parallelism for the device to be equal to number of copies

D. Duplex backups can be performed to either disk or tape, but cannot be performed on tape and disk simultaneously

Correct Answer: BD

QUESTION 14

You execute the following command to set the redundancy retention policy in Recovery Manager (RMAN):

RMAN> CONFIGURE RETENTION POLICY TO REDUNDANCY 3;

Identify the statement that correctly describes the implications of this command.

A. when there are already three backups, for the fourth backup RMAN removes the oldest backup.

B. When there are already three backups, for the fourth backup RMAN marks the oldest backup as obsolete.

C. the number of backups that are retained is equal to three and it includes full, incremental, and cumulativebackups.

D. when there are already three backup, one of the existing backups must be removed manually before takingthe fourth
backup.

Correct Answer: B

QUESTION 15

While designing a database, you created the EMPLOYEES table as an index-organized table (IOT). You must create a
bitmap index on the EMPLOYEES .JOB_ID column.

Which must you do to enable the creation of the bitmap index?
A. A primary key must have been created.

B. A mapping table must have been created.

C. An overflow tablespace must have been specified.

D. The PCTTHRESHOLD option must have been specified.

Correct Answer: B

170-034 PDF Dumps | 120-034 VCE Dumps | 120-034 Exam Questions 7/8


https://www.certbus.com/1z0-034.html
https://www.certbus.com/1z0-034.html
https://www.certbus.com/1z0-034.html

www.CertBus.com https://www.certbus.com/1z0-034.html
CE RTBUS 2024 Latest certbus 170-034 PDF and VCE dumps Download

170-034 PDF Dumps 170-034 VCE Dumps 170-034 Exam Questions

170-034 PDF Dumps | 120-034 VCE Dumps | 1Z20-034 Exam Questions 8/8


https://www.certbus.com/1z0-034.html
https://www.certbus.com/1z0-034.html
https://www.certbus.com/1z0-034.html
http://www.tcpdf.org
https://www.certbus.com/1z0-034.html
https://www.certbus.com/1z0-034.html
https://www.certbus.com/1z0-034.html

